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Candle Center - Infinite Algebra 2

Basic Polynomial Operations

Name each polynomial by degree and number of terms.
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9) Critical thinking: Why is it impossible to have a linear trinomial with one variable?

Simplify each expression.
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Find each product.
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Critical thinking questions:

24) Simplify: 
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Candle Center - Infinite Algebra 2

Basic Polynomial Operations

Name each polynomial by degree and number of terms.
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9) Critical thinking: Why is it impossible to have a linear trinomial with one variable?

It could have at most two terms: Linear and constant.

Simplify each expression.

10)

  

(

 

4

  

m

 

4
 − 

  

m

 

2) + 

 

(

 

5

  

m

 

2
 + 

  

m

 

4)

 

5

  

m

 

4
 + 4

  

m

 

2

11)

  

(

 

5

  

x

 

 + 

  

x

 

4) − 

 

(

 

3

  

x

 

4
 + 4

  

x

 

)

 

−2

  

x

 

4
 + 

  

x

 

12)

  

(

 

5 + 7

  

x

 

3
 + 3

  

x

 

2) + 

 

(

 

−12 + 5

  

x

 

 + 6

  

x

 

2)

 

7

  

x

 

3
 + 9

  

x

 

2
 + 5

  

x

 

 − 7

13)

  

(

 

4 + 3

  

x

 

2
 + 8

  

x

 

3) + 

 

(

 

−7

  

x

 

3
 + 12

  

x

 

5
 + 6

  

x

 

2)

 

12

  

x

 

5
 + 

  

x

 

3
 + 9

  

x

 

2
 + 4

-1-



©o f2G0b1S1u SKPu2tyaC zSFobfwt8w3aDrkeF qLoLnCF.4 i 1AnlElm KrUiag9hntPsJ 3rOensjedr6vXeFds.j k pMmaEdJe2 VwYiptJhz UIJn4f4iJnRiht7ev xAzlNgOemblrca4 x2v.I Worksheet by Kuta Software LLC

14) 

   

(

 

13

  

m

 

4
 + 2) + 

 

(

   

m

 

4
n

 

2
 + 2 − 2

  

m

 

4) − 

 

(

 

−13

  

m

 

2
n

 

3
 + 5

  

m

 

4)

   

m

 

4
n

 

2
 + 13

  

m

 

2
n

 

3
 + 6

  

m

 

4
 + 4

15)

   

(

 

−10

  

mn

 

3
 − 4

  

n

 

4) − 

 

(

 

−2

  

n

 

4
 − 7

  

mn

 

3
 − 6

  

n

 

3) − 

 

(

 

5

  

n

 

3
 + 6

  

mn

 

3)

 

−9

  

mn

 

3
 − 2

  

n

 

4
 + 

  

n

 

3

Find each product.
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Critical thinking questions:
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